
Block A of mass M 10kg is Traveling
to the right at UA 2FITS at the

instant shown If the coefficient of kinetic
friction is due 0,2 between the surface
and A determine the accelerationof A and B

Block B has a mass of 2M
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step kinetic Equations
Block A
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3 Unknowns

AA ABC T

step kinematics

SA t ISB 0

date Sa t 298 0

FE's as 0

5A 25 in cable coordinatesystem
This a source of confusion We need
to convert from local to global
9A SA
AB 5ps 92 2AAB



Think of it this way
art c ab 2aA At

What we needart 3 AB _Zar 4
Now we defined in our
summation of forces 9A is

positive to right and aero is
positive downward and equal
029A

Zag I assumed
T Meng _mafia art 7

2T 12mg 2mg an.dk
I just need
the relationship

T mung IMAD and to know
what the cable2T 12mg 3 Matt
equatheans

solving

1 Mg Mts 10.9.81 0.21 2 71,94Mt
3 3

ab g l Nh 9,8 1 0,2 262m15s
3 3


